6[EXICET HFH]

BE&AE =
EhEAE (2 & & B & (B&RbHT) 1HEOBEAR 1880
5

& Z ] ES % Y 141 47 72 119 0.84

IR IIT ® @ FEF[EV*R 123 36 38 74 0.60

B O= B EEVA 168 39 136 175 1.04

B g — B EtV 147 57 61 118 0.80

BE | m m EtVr 147 98 75 173 118

B i TN B E[BAtVra 147 52 57 109 0.74

B O|B i B EtVr 147 85 86 171 1.16

B ix | & @ ZEtVir 179 78 114 192 1.07

HEDH |E =| mlEm % 56 6 17 23 0.41

[ - 1,255 498 656 1,154 0.92
1ETHRRAZa = —2av ]

3 JN-| =
s 2 & 2| B 4 (BREHT) 1HEORSEAR 1880
5

X H X H # B|tV4auazi—day 147 81 51 132 0.90

25 T Bley4a3azazr-vay 147 59 145 204 1.39

ECRRaZa=4H—avF &t 294 140 196 336 1.14




8[T IR 2FH (BALH LIS DFR) ]

3 JN-|
RoETRE |2 & 4| B A (BEMHT) |AECESEAR =1 0l
eSS
X = I =|wyv977b 25 19 14 33 1.32
7-F977b 25 10 22 32 1.28
1977 25 22 18 40 1.60
THY 25 6 46 52 2.08
7324997 25 19 31 50 2.00
it 125 76 131 207 1.66
AR B B I EH% W 49 19 1 20 0.41
g K 24 25 1 26 1.08
B 25 18 2 20 0.80
BimIE 24 14 0 14 0.58
B 122 76 4 80 0.66
I KR £ H I % W 25 23 1 24 0.96
BE®E 25 27 0 27 1.08
g 49 33 0 33 0.67
o 25 12 2 14 0.56
H 124 95 3 98 0.79
HAZ [ & I #H|EW-g3= 49 45 0 45 0.92
BER-IERT Y 49 47 4 51 1.04
BE-#HHIY 49 32 0 32 0.65
&t 147 124 4 128 0.87
E O B I EPEITEM 97 50 14 64 0.66
2 | # T EE W 49 29 0 29 0.59
(S 49 25 1 26 0.53
EHIRE 25 8 2 10 0.40
B 123 62 3 65 0.53
sl ol I OEE K 49 33 1 34 0.69
B F 25 20 2 22 0.88
TR 53 31 2 33 0.62
&t 127 84 5 89 0.70
R |4t & B I EKRESEN 135 81 5 86 0.64
BE B B I FEReITHEMN 106 78 8 86 0.81
B IR I I E|RERW 136 90 6 96 0.71
IR |8 & I %% W 25 19 2 21 0.84
B F 25 31 2 33 1.32
= 49 50 6 56 1.14
FaTMYATL 25 34 5 39 1.56
&t 124 134 15 149 1.20




8T RICBI T 2FH (BALH LIS DFR) ]

EH5 AR o
EmEde |2 o &l B 4 (BLRHT) TEME‘%)‘lE 1282
5 E°S
FFs |/F & I #E# #H 25 26 2 28 1.12
B = 49 61 1 62 1.27
TER BT 25 60 0 60 2.40
TERAM 25 26 0 26 1.04
&t 124 173 3 176 1.42
BT EH |BT B I X|#REER 123 85 19 104 0.85
'BE |2 BE I EH W 49 84 0 84 1.71
B = 25 37 2 39 1.56
RELE 25 22 2 24 0.96
TAPMYATA 25 36 0 36 1.44
&t 124 179 4 183 1.48
BERE |H £ I ¥|# W 49 35 3 38 0.78
B OFE 49 53 4 57 1.16
T 25 23 1 24 0.96
& 123 111 8 119 0.97
I % &t 1,860 1,498 232 1,730 0.93
9[THRICETHFR (BAKIDFR) ]
RHETHE |F ® £ Bo& (jjn;ff) 'HACERAR ;%E‘(P‘
g | x| eHEE
X H AN OB I HppmIIE 54 15 2 17 0.31
t-pEENIZ 21 29 1 30 1.43
YATAIE 25 18 1 19 0.76
THAVIZE 25 19 6 25 1.00
Ta7VYATA 22 7 1 8 0.36
B 147 88 1 99 0.67
B {1 I EF 147 88 1 99 0.67
gi)\é“ 1TEBEOEEAE 1HE®
I a5 (BxEHT) D | - | R
2,007 1,586 243 1,829 0.91
10 [F} 477 ]
RmETRE [ & &l B 4 (%gii;i“) 1HEOEEAR et
5| % ] i
IR (B 2 B |EEERS 147 189 22 211 1.44
INEH B B R F B R 147 211 39 250 1.70
FEPRWR & 294 400 61 461 1.57




11[EFICET 5% ]

. ‘ %i)\é“ 1HEDEEAE 1HE®
RHETHE |F ® £ oA (BxHT) P yred
| = |
HAS =ZE = 49 28 16 44 0.90
B & 25 16 25 41 1.64
B 9 25 11 57 68 272
& 99 55 98 153 1.55
# i B =Z|B=F2 25 17 12 29 1.16
BAREE 49 21 28 49 1.00
R HhIREE 25 15 6 21 0.84
& 99 53 46 99 1.00
B R E|E=TY MY 49 26 15 41 0.84
B & 49 33 35 68 1.39
& 98 59 50 109 1.11
FFa |2 E S EIDHEES 25 17 17 34 1.36
BREE 25 18 22 40 1.60
Fr b EtE 25 23 8 31 1.24
B 75 58 47 105 1.40
HhE O |m B B =EE=ENE 25 13 18 31 1.24
BEMNZF 25 9 30 39 1.56
B & 25 13 16 29 1.16
& 75 35 64 99 1.32
B OE B 446 260 305 565 127
12[REEICBAY B2 R (BAIHI LS DFR) ]
% JN-=| o
EEHE (2 B & B 4 (BERDT) 1HEOEEAR i282
| = |
s |2 R 25 2 36 38 1.52
g Y 25 24 30 54 2.16
B 50 26 66 92 1.84
HE | B B EEETYY 49 5 43 48 0.98
® E &t 99 31 109 140 1.41
13[REICEHT 2% H (BAHDFR)]
BEH5 AR o
mmERE [ & & B 4 (BLEHT) 1HROEEAR 1880
HEN
5 R |2 | EERE 49 2 46 48 0.98
B ofu &l & 49 2 46 48 0.98
(fjnﬁ)fﬁ 1BEOREAR 1880
® E & & % ] e 2=
148 33 155 188 1.27




14[f84LI<BE 9 5F R

% N - =
LR EE | I - (BRRDT) 'AACERAR A880
| = | ¢
BT H % =2 H|E @ 26 5 6 11 0.42
B/ # 3 26 5 6 11 0.42
15[ =AiTI<BE 9 2% F ]
BHEAB -
EHEAE (2 B & B & (B&RHT) 1HEOEEAR pat-ed
| = [ =
yE OB & = ME OE 28 13 42 55 1.96
E T} 56 29 88 117 2.09
HERE 28 6 59 65 2.32
H 112 48 189 237 2.12
= M 7 112 48 189 237 2.12
16[AB CBT 5% R
BEAEB =
EnEAE |2 & 4| B 4 (BLRIDT) 1HEOBEAR 1880
| = | ¢
B & | H|REAKE 28 18 29 47 1.68
BT H % =2 H|K & 48 27 2 29 0.60
®x F 3§ 76 45 31 76 1.00
17[ERRBERICEY 5% %]
BEAB =
mmETRE |2 & %] B & (BREIHT) 1HROEEAR B (oS- L
| = [ =
B & |E BIE B —HREERR 98 76 225 301 3.07
BYRELERNR
BARANER 15 7 22 29 1.93
NEDOER 25 17 24 4 1.64
&t 138 100 271 37 2.69
X B |XEBi#E¥EBEEER 56 36 4 40 0.71
E B & 194 136 275 411 2.12




18[ & ]

% N - =
EhEAE (2 & & B & (B&RHT) 1HEOBEAR 1880
g | = | =
X E [X B| 2R 35 3 1 4 0.11
= |= E|RE-REK 35 0 1 1 0.03
A& VAN X|E=-RE 35 3 2 5 0.14
it & ® F 105 6 4 10 0.10
19[EE 7
AE
RETH A | L5 &l ®HEGE (jju%i) 'HEOREAR ;%Eﬂ)—
5 | = | & |
£ H ¥ E X 147 68 102 170 1.16
NEF |\ £ F & FIFH1oaH 49 16 50 66 1.35
17782 BF 25 27 2 29 1.16
YATLIER Y 25 52 10 62 2.48
£V 2 RIER D T 49 38 16 54 1.10
H 148 133 78 211 1.43
E OE B G 295 201 180 381 1.29
20[ &2 F]
B&AEB =
EhEAE (2 & & B & CEITIED 1HEOBEAR 1880
g2 | = | =
PR OB OB OB SR A& 192 55 162 217 1.13
X H eI G N 164 80 67 147 0.90
HEAE [t B & & &% & 164 57 84 141 0.86
2 |2 M B &R & 164 54 195 249 1.52
it T F OB &R A& 164 69 130 199 1.21
B |B fi B B & 164 45 67 112 0.68
FE® O|F OB B 5% & 164 93 125 218 1.33
BT H BT B # ‘% & 164 63 122 185 1.13
RABX |RABXRBBHR & 164 111 84 195 1.19
W |B OE B &% & 164 38 105 143 0.87
weER F 1,668 665 1,141 1,806 1.08




21 [ TE Bl ZRTR (A DFR) ]

% N | -
RETR & |F L5y £ -5 ZERX S |ExELD | HEOERAR ;%E‘Q
eSS
[ = |
FRE |- 15 140 1FEMEY 54 26 26 52 0.96
2FEMRLLE 6 0 1 1 0.17
= & #| om 1?@5&\% 54 16 24 40 0.74
2FEMRLLE 6 1 0 1 0.17
380 12EEY 36 6 10 16 0.44
2L LLE 3 1 0 1 0.33
12EMRAE 144 48 60 108 0.75
it 2% EIE S 5 15 2 1 3 0.20
it 159 50 61 111 0.70
FHRE O|IF B WU WwEEMI~48 |1REMEY 100 72 69 141 1.41
2 EHEL L 50 1 4 5 0.10
&t 150 73 73 146 0.97
1E8RF2- 450 1FEHEY 46 38 16 54 1.17
1FERLE 146 110 85 195 1.34
&t 2B EHFH L 5 50 1 4 5 0.10
&t 196 111 89 200 1.02
=0 S b H 18p 1HEEY 54 22 35 57 1.06
2FFEMRLUE 5 0 0 0 0.00
= & | om 1?&*&% 54 22 27 49 0.91
2FFHESULE 5 2 0 2 0.40
380 1F2EHEY 36 15 7 22 0.61
2FEMRLLE 5 0 0 0 0.00
1Z2EMRYE 144 59 69 128 0.89
B 2FERB L 15 2 0 2 0.13
it 159 61 69 130 0.82
¥ i ¥k 23 140 1FEEY 54 23 24 47 0.87
22 FEEL L E 6 0 0 0 0.00
= & | 28 1?‘5&*&% 54 12 37 49 0.91
22 FEEL L E 6 0 0 0.00
3 1FEHEY 36 1 13 0.36
22 FEEL L E 3 0 0 0.00
1RERESE 144 46 63 109 0.76
B 25REEFR N L E 5 15 0 0 0 0.00
&t 159 46 63 109 0.69
NEF |\ E F 35 E 158 1EEHEY 54 47 34 81 1.50
2FFHESULE 6 1 0 1 0.17
= @ | om 1?&*&% 54 42 24 66 1.22
22 FELLE 6 0 0 0 0.00
380 1FEHEY 36 24 11 35 0.97
2ZFEELLE 3 0 0 0 0.00
1FEMRYE 144 113 69 182 1.26
B 25 EERR N L 5 15 1 0 1 0.07
it 159 114 69 183 1.15
3 I w &R ~3%8 1FEEY 120 96 109 205 1.7
2L L E 15 0 0 0 0.00
it 135 96 109 205 1.52
1FERYE 842 472 455 927 1.10
TE BF i ERFE B Il 5 25 aEAT S L 5 125 6 5 1 0.09
&t 967 478 460 938 0.97




2[ERFIRREMFIREZR (FrLo DR I—)L) RV ERHREEMHEER (FrLoof)]

3 IN-|

N ] ) 1EEDREAS 1HE®
XHEAE |¥ ® £ a8 BE RS |(BxEbd P yred

X
& VAN ¥ PN =gy 1Z2EHEY 170 96 165 261 1.54
1~3%B 2L L 15 1 3 4 0.27
&t 185 97 168 265 1.43
IR X i Fl#&a%H 12EHEY 170 119 93 212 1.25
1~3%B 2FERLUL 15 2 0 2 0.13
&t 185 121 93 214 1.16
HEA | B & XR|REER 12EHEY 170 103 99 202 1.19
1~3%B 2FERLUL 15 0 1 1 0.07
&t 185 103 100 203 1.10
SIS N 3 i E|#E%H 12EHEY 230 170 152 322 1.40
1~3Ef 2FERLUL 15 0 0 0 0.00
Hi 245 170 152 322 1.31
it i 4 El#Re2H 12EHEY 170 96 91 187 1.10
1~3Ef 2FERLUL 15 0 1 1 0.07
Hi 185 96 92 188 1.02
NEF |\ £ 7 8 E|Z&ER 12ERY 60 37 35 72 1.20
1288 Hi 60 37 35 72 1.20
1Z2EMRYE 970 621 635 1,256 1.29
FrLYPRI—ILRUFYLUD#H & 254 L L5 75 3 5 8 0.11
H 1,045 624 640 1,264 1.21




